Name ______________________________________________________________
[bookmark: _GoBack]4.3 Practice 

In problems #1-4, find the domain of each rational function.




1.  	2.  		3.  		4.  










In problems, #5-7, graph each rational function using transformations.



5.  					6.  			7.  
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[image: ]In problems #8-10, use the graph shown to find:  a) the domain and range; b) vertical asymptotes, if any; c) horizontal asymptotes, if any; and d) oblique asymptotes, if any
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In problems #11-15, find the vertical, horizontal, and oblique asymptotes, if any, of each rational function.



11.  				12.  				13.  


























14.  					15.  
image2.emf



F(x) = 3x(x −1)
2x2 − 5x −3
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H (x) = 3x
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x2 + 4
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F(x) = −2(x2 − 4)
3(x2 + 4x + 4)
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F(x) = 3
x
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F(x) = −1
x2 + 4x + 4
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R(x) = 4x5



x3 −1










R

(

x

)

=

4

x5

x

3

-

1


Microsoft_Equation8.bin

image13.emf



Q(x) = 5− x
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F(x) = 3x + 5
x − 6
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H (x) = 6x
2 + x +12



3x2 − 5x − 2
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G(x) = x3 −1
x − x2
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R(x) = x
x4 −1
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